

# Deduction Rules For Propositional And First-Order Logic

Bart Massey  
21 April 2016

This document is heavily based on <http://www.opentextbooks.org.hk/node/9636>, which has been made available under a CC-Sharealike license and is in turn derived from *Discrete Mathematics With A Computer*, Hall and O'Donnell, Springer 2000.

In what follows,  $F_1 \dots F_n$  are WFFs. Above the horizontal bar are the conditions for the rule to be applied, below is the result.

## Propositional Rules

$\wedge$ -intro

$$\frac{F_1, F_2}{F_1 \wedge F_2}$$

$\wedge$ -elim

$$\frac{F_1 \wedge F_2}{F_2}$$

$$\frac{F_1 \wedge F_2}{F_1}$$

$\vee$ -intro

$$\frac{F_1}{F_1 \vee F_2}$$

$$\frac{F_2}{F_1 \vee F_2}$$

$\vee$ -elim

$$\frac{\frac{F_1}{F_3}, \frac{F_2}{F_3}, F_1 \vee F_2}{F_3}$$

case-elim

$$\frac{\neg F_1, F_1 \vee F_2}{F_2}$$

$$\frac{\neg F_2, F_1 \vee F_2}{F_1}$$

$\Rightarrow$ -intro

$$\frac{\frac{F_1, F_2, \dots, F_{n-1}}{F_n}}{F_1 \wedge F_2 \wedge \dots \wedge F_{n-1} \Rightarrow F_n}$$

mp (*modus ponens*)

$$\frac{F_1, F_1 \Rightarrow F_2}{F_2}$$

$\neg$ -intro

$$\frac{F_1}{\neg \neg F_1}$$

$\neg$ -elim

$$\frac{\neg \neg F_1}{F_1}$$

$\square$ -intro

$$\frac{F_1, \neg F_1}{\square}$$

$\square$ -elim

$$\frac{\square}{F_1}$$

raa (*reductio ad absurdum*)

$$\frac{\neg F_1}{\square}$$

$$F_1$$

Here are some other rules that may be helpful.

**$\wedge$ -commute**

$$\frac{F_1 \wedge F_2}{F_2 \wedge F_1}$$

**$\vee$ -commute**

$$\frac{F_1 \vee F_2}{F_2 \vee F_1}$$

**DeMorgan**

$$\frac{F_1 \vee F_2}{\neg (\neg F_1 \wedge \neg F_2)}$$

$$\frac{F_1 \wedge F_2}{\neg (\neg F_1 \vee \neg F_2)}$$

## First-Order Rules

Note that all of the propositional rules are sound when the arguments to predicates match. For example

$$\frac{\forall x \bullet p(x), \neg p(5)}{\square} \quad [\forall\text{-elim}, \square\text{-intro}]$$

**quantifier-flip**

$$\frac{\neg \forall x \bullet F}{\exists x \bullet \neg F}$$

$$\frac{\neg \exists x \bullet F}{\forall x \bullet \neg F}$$

**$\forall$ -elim**

$$\frac{\forall x \bullet F(x)}{F(t)} \quad [vars(t) \notin F(x)]$$

**$\forall$ -intro**

$$\frac{F}{\forall x \bullet F} \quad [x \text{ not free in } F]$$

**$\exists$ -elim**

$$\frac{\exists x \bullet F(x)}{F(s)} \quad [s \text{ is a Skolem function}]$$

**$\exists$ -intro**

$$\frac{F(t)}{\exists x \bullet F(x)} \quad [x \text{ not free in } F(t)]$$